Item# ~ |Part#  ~ |Descriptil - e
11 NA Base Steel

1-2 NA Front Panel (S.S.)

1-3 NA Back Panel (S.S.)

1-4 NA Top Lid

1-5 NA Front Motor Panel (5HD)

1-6 NA Top Lid Rib (Metal)

2-1 NA Plastic Door ( Tall)

2-2 NA Face Cover (Front Bezel)

23 NA Inner Plastic Door

24 UV-149  |Plastic Label Cover

2-5 NA Lower Transparent Cover

2-6 NA Top Transparent Cover

2-7 UV-003-H |Complete Touch Pad (Horned)
2-8 NA LED Light

2-9 NA LED Light Harness

2-10 NA Touch Pad (Inner Harness)
2-11 NA Button-Speaker-Harness

2-12 UV-021 Door Magnet

2-13 Uv-112 Optional Lock and Key
2-13 UV-112-B |Lock Only

2-13 UV-112-C |Key-Only

NEE bbbNHNbHH»—\NHHHHHH»—‘U!HH»—‘H»—‘H»—‘HHE

2-14 NA Screw @3*15
2-15 NA Screw @#3*8
2-16 NA Cable retainer
3-0 UV-014  |Door Hinges
31 NA Hinge Upper ( Door)
32 NA Hinge Lower ( Door)
33 NA Hinge Body Door and Lid
3-4 NA Hinge Pin @#5x64
4-0 NA Hinge Hole Plug
5-0 NA Top Lid CTL Plug
Complete Set - Cover for
6.0 Uv-035 Powder Diverter (Qty 5) & 1
Powder Diverter
61 UV-037  |Powder Diverter 1
6-2 UV-036 _|Cover for Powder Diverter 5
6-3 UV-018-TS [Lid --Tall Std
70 UV-007-Ts |ComPplete Canister Set, nolid - |
Tall Std
7-1 NA Standard Canister Adapter 5
72 NA Standard Canister Small 5
7-3 Uv-027 Auger Drive 5
7-4 NA Bearing Canister 5
| 7-5 Uv-015 Motor Drive 5
| 7-6 UV-111 | Canister Nut 5
\ 771 |Uv-016 |Nozzle (elbow) 5
\‘ 7-7-2 UV-016-B |Nozzle Cap 5
= i 7-8 UV-022 _[Spring 5
\ 7-9 NA O-Ring-Auger Assembly 5
/ 8-0 UV-001 Motor 5
9-0 UV-011 Drip Tray Complete 1
/ 9-1 UV-011-C |Drip Tray Grid 1
@ 9-2 UV_011-B |Drip Tray 1
10 UV-011-D |Left Leg 1
11 UV-011-D |Right Leg 1
12 UV-141  [1" Extension Legs (set of 4) 4
13-1 NA Speaker Holder 1
13-2 NA Speaker 1
13-3 NA Speaker Wire 1
14 UV-004 LED ing Board 1
15-1 NA Power-Isolation Plate 1
15-2 UV-005 _ |Main Circuit Board 1
16-0 NA SCREW M4*6 36
17-0 NA SCREW M3*4 11
18-0 NA SCREW @ 3*8 4
19-0 NA SCREW M4*8 2
20-0 NA M3*6 Cu Nut 4
21-0 NA M4 Nut 2
22-0 NA Ground Seat, Washer 2
23-0 NA Machine Label 1
24-0 NA Ground Label 1
25-0 UV-012 _ |Power Cord 1
26-0 UV-002 Complete Wire Harness Set 1
27-0 NA 24DC Input Power Cable
28-0 NA Power To PCB cable 1
[ ) 29-0 NA Body Ground Cable 1
® 30-0 NA Strain Relief 1
E R E -I- E R I S 31-1 NA Fuse canister ( Seat) 1
31-2 NA Fuse ( 10A) 1
EX1 UV-150 Light Box-LED Option 1
. . EX2 UV-151  |Av Screen Option 1
Item Number: 99907-99912 (Tall Model | Top & Front Load Options)  [5e—To 15 fwisssececomion n

All intellectual property rights remain the sole property of United Food Group, Inc.
1925 Holmes Road, Elgin, lllinois 60123 | 847.622.1803
Revised Date: 04-28-2016



